

HW11

Wei-Hsiang Sun

Question 1

For $n = 2$, we define

$$\Omega_1 = |x|^{-2}(x_1 dx_2 - x_2 dx_1)$$

for $n = 3$ we define

$$\Omega_2 = |x|^{-3}(x_1 dx_2 \wedge dx_3 - x_2 dx_1 \wedge x_3 + x_3 dx_1 \wedge x_2)$$

(a)

Can you prove $d\Omega_1 = 0$, $d\Omega_2 = 0$

Proof.

$$\begin{aligned}\Omega_1 &= |x|^{-2}(x_1 dx_2 - x_2 dx_1) \\ &= (x_1^2 + x_2^2)^{-1}(x_1 dx_2) - (x_1^2 + x_2^2)^{-1}(x_2 dx_1) \\ \Rightarrow d\Omega_1 &= d(x_1^2 + x_2^2)^{-1} x_1 \wedge dx_2 - d(x_1^2 + x_2^2)^{-1} x_2 \wedge dx_1 \\ &= \{-(x_1^2 + x_2^2)^{-2} 2x_1^2 + (x_1^2 + x_2^2)^{-1}\} dx_1 \wedge dx_2 \\ &\quad - \{-(x_1^2 + x_2^2)^{-2} 2x_2^2 + (x_1^2 + x_2^2)^{-1}\} dx_2 \wedge dx_1 \\ &= \frac{x_1^2 - x_2^2}{(x_1 + x_2)^2} dx_{12} - \frac{x_1^2 - x_2^2}{(x_1 + x_2)^2} dx_{12} \\ &= 0\end{aligned}$$

$$\begin{aligned}\Omega_2 &= |x|^{-3}(x_1 dx_2 \wedge x_3 + x_2 dx_1 \wedge x_3 + x_3 dx_1 \wedge x_2) \\ &= |x|^{-3} x_1 dx_2 \wedge x_3 + |x|^{-3} x_2 dx_1 \wedge x_3 + |x|^{-3} x_3 dx_1 \wedge x_2 \\ \rightarrow d\Omega_2 &= d\left(\frac{x_1}{(x_1^2 + x_2^2 + x_3^2)^{3/2}} dx_2 \wedge dx_3\right) \\ &\quad - d\left(\frac{x_2}{(x_1^2 + x_2^2 + x_3^2)^{3/2}} dx_1 \wedge dx_3\right) \\ &\quad + d\left(\frac{x_3}{(x_1^2 + x_2^2 + x_3^2)^{3/2}} dx_1 \wedge dx_2\right) \\ &= \frac{x_2^2 + x_3^2 - 2x_1^2}{(x_1^2 + x_2^2 + x_3^2)^{3/2}} dx_{123} - \frac{x_1^2 + x_3^2 - 2x_2^2}{(x_1^2 + x_2^2 + x_3^2)^{3/2}} dx_{213} \\ &\quad - \frac{x_1^2 + x_2^2 - 2x_3^2}{(x_1^2 + x_2^2 + x_3^2)^{3/2}} dx_{321} = 0 dx_{123} = 0\end{aligned}$$

□

(b)

Can you write down the expression for general n ? Can you prove $d\Omega_n = 0$ for the general case?

$$\Omega_n = |x|^{-n} \left(\sum_{i=1}^n (-1)^{i+1} x_i dx_1 \wedge \dots \wedge dx_{i-1} \wedge dx_{i+1} \wedge \dots \wedge dx_n \right) \quad (1)$$

$$= \sum_{i=1}^n \frac{x_i (-1)^{i+1}}{(\sum_{i=1}^n x_i^2)^{n/2}} dx_1 \wedge \dots \wedge dx_{i-1} \wedge dx_{i+1} \wedge \dots \wedge dx_n \quad (2)$$

Proof. We prove directly that $d\Omega_n = 0$. Let $n \in \mathbf{N}$, then

$$\begin{aligned} d\Omega_n &= d \sum_{i=1}^n \left(\frac{(-i)^{i+1}}{(\sum_{i=1}^n x_i^2)^{n/2}} + \left(\frac{-n}{2} \right) \frac{x_i (-1)^{i+1} \cdot 2x_i}{(\sum_{i=1}^n x_i^2)^{n/2+1}} \right) \wedge dx_1 \wedge \\ &\quad \dots \wedge dx_{i-1} \wedge dx_{i+1} \wedge \dots \wedge dx_n \\ &= \sum_{i=1}^n \frac{(-1)^{i+1} ((\sum_{j=1}^n x_j^2) - nx_i^2)}{(\sum_{j=1}^n x_j^2)^{n/2}} dx_i \wedge dx_1 \wedge \\ &\quad \dots \wedge dx_{i-1} \wedge dx_{i+1} \wedge \dots \wedge dx_n \\ &= \sum_{i=1}^n \frac{(-1)^{2i} ((\sum_{j=1}^n x_j^2) - nx_i^2)}{(\sum_{j=1}^n x_j^2)^{n/2}} dx_1 \wedge \dots \wedge dx_n \\ &= 0 \end{aligned}$$

(c)

$$\Omega_2 = |x|^{-3} x_1 d_2 \wedge d_3 - |x|^{-3} x_2 d_1 \wedge d_3 + |x|^{-3} x_3 d_1 \wedge d_2$$

$$\begin{aligned} \frac{\partial \varphi_{23}}{\partial s \partial t} &= \det \begin{pmatrix} \cos(\pi s) \pi \cos(2\pi) t & -\sin(\pi s) \sin(2\pi t) 2\pi \\ -\sin(\pi s) \pi & 0 \end{pmatrix} \\ &= -\sin^2(\pi s) \sin(2\pi t) 2\pi \end{aligned}$$

$$\begin{aligned} \frac{\partial \varphi_{13}}{\partial s \partial t} &= \det \begin{pmatrix} \cos(\pi s) \pi \cos(2\pi) t & -\sin(\pi s) \sin(2\pi t) 2\pi \\ -\sin(\pi s) \pi & 0 \end{pmatrix} \\ &= -\sin^2(\pi s) \sin(2\pi t) 2\pi \end{aligned}$$

$$\begin{aligned} \frac{\partial \varphi_{12}}{\partial s \partial t} &= \det \begin{pmatrix} \cos(\pi s) \pi \cos(2\pi) t & -\sin(\pi s) \sin(2\pi t) 2\pi \\ \cos(\pi s) \pi \cos(2\pi) t & -\sin(\pi s) \sin(2\pi t) 2\pi \end{pmatrix} \\ &= 0 \end{aligned}$$

Note that $x_1^2 + x_2^2 + x_3^2 = (2 \sin^2(\pi s) \cos^2(2\pi t)) + \cos^2(\pi s)$ then

$$\begin{aligned}
\Omega_2(\gamma) &= \int_0^1 \int_0^1 |x|^{-3} x_1 d_2 \wedge d_3 + \int_0^1 \int_0^1 |x|^{-3} x_2 d_1 \wedge d_3 \\
&= \int_0^1 \int_0^1 \frac{\sin(\pi s) \cos(2\pi t)}{((2 \sin^2(\pi s) \cos^2(2\pi t)) + \cos^2(\pi s))^{3/2}} (-\sin^2(\pi s) \sin(2\pi t) 2\pi) ds dt \\
&\quad - \int_0^1 \int_0^1 \frac{\sin(\pi s) \cos(2\pi t)}{((2 \sin^2(\pi s) \cos^2(2\pi t)) + \cos^2(\pi s))^{3/2}} (-\sin^2(\pi s) \sin(2\pi t) 2\pi) ds dt \\
&= 0
\end{aligned}$$

□